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Before answering the questions, ensure that you hare been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
examination. |
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General Instructions :

(i) &f 997 e &

All questions are compulsory.
(i) 997 T 1 20 TF TGS §97 &1 FAF §97 1 HF & &

Question Nos. 1 to 20 are Objective Type Questions. Each question carries 1
mark.

(i) 997 T 21 & 24 7% STy IAT §97 & GRF 997 3 0% F ¢

Question Nos. 21 to 24 are Very Short Answer Type Questions. Each
question carmes 3 marks.

(iv) 97 G625 & 30 dF T§ 70T 57 &1 A% 997 & HF T &)

Question Nos. 25 to 30 are Short Answer Type Questions. Each question
carnes 4 marks.

(v) 597 G&T 31 A 34 7% AT~raF J577 &1 59% 997 6 % F &

Question Nos. 31 to 34 are Long Answer Type Questions. Each question
carmies 6 marks.

1. & 3% 3EM Ro 3 T 36 o 3 aufrd § & mufe & @ Fafta o 3
) 9 @ &9 § FA H & 37 sl gra B am @ @ sifas swim & Rie gdm
N o A A gt A A oM v ue A 3w & A g 1
30 & I R F geeie FTER A Fufr g €
(A) STEiE IEm (B) o/RdE® F@m
) fHwich aEm (D) I # I A7

Hare hrishna Industrics Ltd. and Rama Industries Lid. are the companies
which are concerned with using materials, which have already been extracted
al a 1,':::“imar1.r state. These cumpanics Process such matcerials 1n. pruduc:: Hl}{}dﬁ
for final consumption or for further processing by other industrial units.

Identify the type of industry to which these companies are related :
(A) Primary Industry (B) Secondanv Industry
(C) Tertiary Industry (D) None of the above
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2wt T WA Sumd B &Y F IZE & 1
(A) (B) TdARS A
(C)‘wf?w (D) dd 7 & # 78
Indian Railways is the example of ............. form of public enterprises.
(A)  Departmental Underakings (B) Public Corporations
(C)  Government Company (D) None of the above

3. @ A 3R Rs. 50,000 T4 @ A F 491 Rs. 70,000 F Fawd & 3 aR O AW

BREe B e, @ &M Fwh daw Feled o omig Rs. 50,000 F 8 YEM
Te% fauda, aR A &Mk Rs. 50,000 §4 3 7@ H Rs. 30,000 & &1 wwaa ¥ ol
qI0 AT fowe ® A 8, @ @ F9 Pad Rs. 30,000 F & P Hm 1

4 F Rrer Tae frad uid Sermer q@dfa @
(A) FrFean s B) &fayfd
(C) RUFT T D) @ B AT N

A person gets his stock insured worth Rs. 50,000 for Rs. 70,000. A firc occurs
and whole stock gets damaged. Insurance company will pay him only
Rs. 50,000, i.c., the actual value of his stock @and not Rs. 70,000. On the other
hand, If any person gets his stock insured worth Rs. 50,000 for Rs. 30,000
and the whole stock gets damaged, he will get only Rs. 30,000, the actual
valuc for which insurance has been taken.

Mcntion the principle of insurance to which the above example is related :

(A) Proximatec causce (B) Indemnity

(C) Subrogation (D) Mitigation

4. {.fw 7 @ weF ¢ Bl @7 @ & B W arakE & ok @t B W e
mEd BQ &l 2-f49H ¥ 9% Y 0F Jaey & U £ 999 o IEH @ 699 §
: 1

gYq g9 &

#-m P qTH F A FARQ : | ‘
(A) B2B Fd (B) B2C 3d
(C) &3-B ¥ (D) C2C 394

There is a constituent of e-business in which transactions have business firms
at one end and its customers on the other end. It cnables a business to be in

touch with its customers on round-the-clock basis.

Name the constituent of e-business :
(A) B2B Commcrce (B) B2C Commerce

(C) Intra-B Commerce (D) C2C Commerce
2610 P.T.0O.
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5. &+ MY (Public Deposits) T8 FRG 2 R & ..ooooevvnes 3 g R e & 1
(A) S (B) D
(C) P& D) @M
Public deposits arc the dcposits that are raised directly YO cocoizisinas :
(A) The Public (B) The Directors
(C) The Audilors (D) The Owners
6. IR S o m A R A A ;g T & 7 1
(A) FEH (B) Iafm
(C) oM (D) ST T IafEr
What is the outcome of entreprencurship called ?
(A) Entreprencur (B) Entreprencurshi
P
(C) Enterprisc (D) Entreprencur and Entreprencurship
7. 9@ @ RGN B g M % & & A R 1
(A) 9% (13) GTH AN
(C) e (D) IATH
The [acility of 'home delivery of goods' is generally provided by .............
(A) Wholcsaler (3) Retailer
(C) Agent (D) Producer
8 e d ... F IJei@ & T 1
(A) 9 @ A (B) =W & e
(C) 9 & A (D) I ql
...................... is explained in the Indent.
(A) Name of goods (B) Quality of goods
(C) Price of goods (D) All of the above
- T JEEIEE HffEam F @R TE 3 (T & TAT HTIA/GEY) |
............. is not an cxamplc of business Uncertainty.
(Wrong estimate of demand/ Earthquake)
10. adafE TN A o5 @ ARETT TR 8l (50/ & & dmr 7&) 1
The maximum number of members in a public company is ......... (50/ No himil)
2810
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comes under general insurance. (Rire Insurance/ Life insurance)

llllllllllllll

12. Prafesdt & R Q@ oo BT @ @ B e 72 8 (T ad /A R 1
Hiring the whole ship for Export is called ......... . (Charter Party/ Shipping Bill)
13. 5% FE & e sfdftan w1 B S (/9
Every company must file Articles of Association. (True/ False)
14. 9@ % wf Ve 30 ad 3 o 7= 8 @ (/3T 1
All the patents in India have their validity for 30 ycars. (True/ False)
15. GST YeR 3 ofqld ‘&7 @ I FC ol & 7 [ daq g gha W (G3/H789) 1

Undecer the system of GST, the tax is charged not only on Valuc Addition but

'Tax on Tax'. (True/ False)
16. ‘g6 o @ affes Rraelt f Fger Jeaw (dfd o) 3 WeW | [ FE
81 T FTF FAET B I g WA A §EiG &1 T geAi 1

[t refers to conducting all the commercial activitics through computer network
(Internet). Thc above statement is related to one of the cmerging modes of

business. Identily it.

17. “Zom A S§ R owa AfEd @ 996 | 8, W 06 AQARE 39 @ HRdd A
a™ @ R R a1 & 31 Sulea FE9 O @ W A R @ et & 3@

RERIE I 1
"It refers to that person or a group of persons whc performs various functions
to bring a business unit into existence.” The above statement is related to one

of the terms of formation of company. Identify it.

18. “3qF WY IA M A B A s W9 I PIEA 7 TGR P F9g TN A B
AR geiEd T@d &7 90 F9T il D O SN @ qad & 3@ w1

"It refers to those shares which carry preferential right in the pa);mcnt of
annual dividend and repayment of capital in the event of liquidation." The

above statement is related-to one of the types of shares. Identify it.

2%
W P.TO

Download from www.MsEducationTv.com



(6) 2610

19. & Ru 7w Al § ¥ g & 959 ¢ 1
AwHE (4) : [l IGE g e T B vl @R § T I b

F (R) : T& G & G F T O e

(A) HHFET (A) T PR (R) A &4 ¢ AR R, AR TE e @

(B) HFF (A
(C) HWFH (A

7 FW (R) A & & AR R, AR & e T 2
§9 & o IRV (R) 6 ¢

(D) T (A) T FD (R) AA ST &
Choose one of the correct alternatives given below :
Assertion (A) : The revenue earned by Departmental Undertakings' is paid into

Reason (R) :

the treasury. )
It is a source of income for the government. f

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct i
explanation of Assertion (A).

|
(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true but Reason (R) is false.
(D) Assertion (A) and Reason (R) both are false:

20. g Ry T fwwd & @ g8 & 999 B ¢ 1
AT (A) : & TITAHF TR S NS SRIRE A @q9Ren & 3o JRaw w@
g & foe oM o X -

2610

FOT(R):  o@ET & I+a O 0H ot 9 & 94 T B FRR A 390 N @
(A) STEEA (A) T RO (R) At T & 9K R, A A T e B

(B) o™¥@E (A) T HRO (R) A4f TF € X R, AT T8 e 8 B

(C) ST (A) T ¥ AR PR (R) 976 &

(D) FNMFET (A) T FRT (R) A STFA &

Choose one of the correct alternatives given below :

Assertion (A)

Reason (R):

: The assumption of social responsibility by business provides

justification for its existence and growth.

The prosperity and growth of business is possible only through
continuous service to society.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) 1s true but Reason (R) is false.

(D) Assertion

(A) and Reason (R) both are false.
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23.

24,

25,

26.

27.

28.
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W;ite any three merits of partnership.

ST 3 5y wewm @ A A7 A JaEw

Mention any three responsibility of business towards consumers.

AM W@ FoEt § R Ay o TR

Explain any three differences between shares and debentures.

HYdq(
OR

MYfe = ¥ T & ¢ fi7 o @ o Al

Explain any three importances of finance in modern business.

GEHT AL B HE 7 RN PR

Point out any three features of a retail trader.
CLE
OR
ST TEH A9 F iz 717 A AR

Point out any three advantages of the Consumers' Cooperative Stores.

ZEad A VIR # g7 A fafew

Write four differences between Business and Employment.,

ST q MW F A B 7 3 ¢ Al & U i

What do you mean by Internet ? Explain its two benefits.

3Ygq(
OR

9 & 6=t e gl & avig &

Explain any four principles of Insurance.

§-aE ¥ ? WR Faed 9§90 & B & o Rifw

2610

2+2=4

2+2=4

What is e-Business ? Write any two differences between traditional business
. and e-Business.

0% B¢ A9 A Bl grv aEemeti # IO i

Explain any four problems faced by a small business.
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30.

31.

32.

33.
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U5 FORE R Fwfs s SmRd A TR I B g7 et @ 3V AR 4

Explain any four services offered by the wholesalers to the manufactures or
producers.

FEN FagE 3 B a7 7ew W T 3w 4
Highlight any four importance of international business.

e
OR
HAU T A (IMF) 71 7 69 @ §&@ R\ T 242=4

What is International Monetary Fund (IMF) ? Explain its main two objectives.

Tedq T & 7 oY ¢ 7 3 IR g RAIVAT AR 24+4=6

What do you mean by cooperative organization ? Explain its four
characteristics.

HYd]
OR

Al §eH Pt [l & et A S R 5

Discuss any six limitations of the company organization.

gdats Bt & B g At & 3oR i 5

Explain any six features of the public corporations.

A D TAAET § 1/ g ? 7 g R & dftr aofs % 2+4=6

What do you mean by Incorporation of a Company ? Explain in brief its
procedure.

CREN
OR

qrfg dmfvgn T g siffam # A B SiqTIR BT 6

Give any six differences between the Memorandum of Association and the
Articles of Association,

34, Afds BT o9 FO 3 KT FHA g I FA A AL & WA W qoiw FW 6

2610

Explain any six limitations of issuing equity shares to raise long term {inance.
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